R SR =0 IR RBRACRFFmGR TH  TREERER
TR - AR - A0 ok HLAZ Kok i =
1. 1 5HKEmiE T
(1) Bk T [XHA, G
PRAE Y m3 5. 000
HR m3 5. 000
(2) vEHE M E L X [#]B
PRAE Y m3 1.000
HR m3 1. 000
Eaki i m 2. 000
(3) WrimiffiE L (ER) XHC, K
ary7 J—hIED0Y m 0. 200
W A2 T v 1. 000
(4) BF IR AR E T X [#]D
JEREFT =227 U — b X 1. 000
mmbkar 7 y—h X 1. 000
(5)FRT XHIE, H, T
HR m3 10. 000
arzy—k m3 6. 700
(6) H Hufife L XFHF, J1, J2, L
H Hiffi i T GRS — U v TR i T 4.000
2. 2 SHKEEME T
(1) H Hfife T [X[#A, B, C
H i T E/VH VTR i T 3. 000
3. 3 HHKEEMET
(1) WrimffE L (ER) X [#]A
a7 J—hIEo0 m 0. 100

1/17




R SR =0 IR RBRACRFFmGR TH  TREERER
TAE - FER - AR ok HLAZ Kok i =
W A2 T v 1. 000
(2) H Hmfife L X [#]B
e T S I 1. 000
4. 3— 1 SHKEAMET
(1) H Hfife T X [HA, B
H i T E/VH VTR i 2. 000
5. 4 SHKEEmE T
(1) Wr i & 1 X [H]A
ary7 J—hIED0Y m 0. 100
W A2 T v 1. 000
(2) H Hmfife L X [#]A
H i T GRS — U v T i T 1.000
(3)F5RT X [#]B
HR m3 1. 000
arzy—k m3 0. 100
()= 7Y —FL X [#1B
karzy—h v 1. 000
(5) KAEMFE T X[#C
a7 J—hIED0Y m 0. 100
arzy—rk m3 0. 100
6. 5 FHEKEEMIET
(1) H Hfife T X [HA, B
H Hiffi i T E/VH VTR i T 3. 000
(2) KT (EH)
a7y — MEEMIUEL iR m3 0. 400
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SEEE g ~v AN RBAAERFmR LE THEEERER
TR - AR - A0 ok HLAZ Kok i =
BOEN - B (M= 7 U — k) m3 0. 400
U AT % Kk, LTET X 1.000
7. 6 FHEKERHE T
(1) B #ffifE T [X[#A, B, C,D
H i T E/VH VTR i T 4.000
8. 1 FEipdiKEEAiE T
(1) hw= T X FHIA
PRAE Y m3 1.000
HR m3 1. 000
(2) KRBT CRIKRTERA) X [#]B
Ui AT X tTaEd v 1. 000
(3)F5RT X[#C
a7y — MEEMIUEL K= m3 0. 500
BOEN - B (M= 7 U — k) m3 0. 500
arzy—k m3 1. 000
H Huti e T EHE m 0. 100
(4) PR L X [#]D
a7y — MEEMIUEL il m3 0. 400
BOEN - B (M= 7 U — k) m3 0. 400
arzy—rk m3 0. 900
H Huti e T EHE m 0. 100
(5) KL (BEH) X [#]D
U B Kk, LTET X 1.000
(6)HRERNi2 7 ) — L [X D
a7y — MEEMIUEL il m3 3. 000
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SEEE g ~v AN RBAAERFmR LE THEEERER
TR - AR - A0 ok HLAZ Kok i =

BOEN - B (M= 7 U — k) m3 3. 000

K=o 7 J— b Fi 1. 000
(7)EKHT X [HIE

a7y — MEEMIUEL iR m3 0. 100

BOEN - B (M= 7 U — k) m3 0. 100

EV/ Kk, LTET 5 1.000

9. 2 FEHERKERAE T

(1)KL (BEH) X [H]A

a7y — MEEMIUEL il m3 0. 100

BOEN - B (M= 7 U — k) m3 0. 100

U AT % Kk, LTET 2y 1.000
(2) KRBT CRIKRTERA) X [#]B

U AT % tTaEE v 1. 000

RV =F L UoBEME - LB m3 0. 100
(3)MafEL X [#]B

PRIE Y HEmHEIES T m3 1.000

HR m3 1. 000

o il i 6. 000
(4) B #ffifE T [X[EIC, E~H, T~K, N

H i T E/VH VTR i T 14. 000
(5) LA T [X[HD, 0, P

PRAE Y m3 3. 000

HR m3 3.000
(6) KT (AMFEFH) X L

UF AT X tTaEE X 1. 000
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(7) RIEMFE L (ERR) X [#IM

a7 J—hIED0Y m 0. 100

W A2 T v 1. 000

10. 35mdeKEmE T

(1) H Hfife T X [HA, B

H i T MRS — U v TR i 2. 000
(2)KEL X #C1

PRt K IS T1 2y 1.000

PR K T2 2y 1.000
(3) BER K= L

a7y — MEEMIUEL iK% m3 0. 500

BOEN - B (M= 7 U — k) m3 0. 500
(4)MAaRKE L X [#IC2

fi ) m3 3. 000

PRIE Y HEmHEIES T m3 2. 000

HR m3 2. 000

o il i 20. 000

JEik= 7 U — b m3 0. 400

SLRERS RC-40 m 3. 400
(5) =T [X.[#C4, C5,D, E

PRAE Y m3 17. 000

HR m3 17. 000
(6)fFE=v 27U —FTL X [#C4

M= 7 U—h m3 0. 100
(7)MAFEL X [Eice
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STEHE M ~» AN RBRAEEHFEM bR TR LHERERiER
TAE - FER - AR ok HANT Kok i =

PRIE Y HEmHEIES T m3 1. 000

HR n3 9. 000

T A A i 12. 000
(8) KRBT CAMKRTRM) X[#C

U AT X +IET v 1. 000
1. fRiRL
(1) fax ik T 1 ZHEKE

EJ U—VBEER - R & T 1. 000

E/ L—/LER FEEE ) 5 X HDE T v 1. 000

E®/ L—/LER FEEE ) 5 K HWEE T v 1. 000

/) L—/LER FEEEL ) 5 K HHE T v 1. 000

/) L—/LER FEMEELH 5 KM TE T v 1. 000
(2) xR T 4 SHEKE

T U—IVBEER - R & T 1. 000

E®/ L—/LER FEEE ) 5 X WBE T v 1. 000
(3) fhax ik T 5 FHEAKES

T U—IVBEER - R & T 1. 000

/) L—/LER FEMEE A 5 K HCE T v 1. 000
(4 ) T 1 SRR

ST E'ifi%ﬁﬁ%ﬁ 5 X[H B i = 1,000

AT %éégﬁééﬁ% X[ C ] =« 1. 000

AT %fﬁfﬁﬁﬁ B XD ] =« 1. 000

ST E'ifi%ﬁﬁ%ﬁ b X[H E fFifr = 1,000
(5) KT 2 HERR K

T BERRE B 7> © X[ AT it e

T
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R SR =0 IR RBRACRFFmGR TH  TREERER
TR - AR - A0 ok HLAZ Kok i =
ST Eéf%“ﬁﬁ%ﬁ) O X [# B £+ = 1000
(6 ) /INEHR i iRk T 1 5K
LT i) m3 19. 000
BEEMET m3 19. 000
(7 ) Hi TR AR IE A 2 HEERR K
it TRt N St T+ v 1. 000
BEEMET 2y 1.000
12. Zoft
(1) E gt
(B L)
R
(SRR a5 ton 0. 867
(2) Hefi#e
el (B L)
Hefii 2
ARGy [PEZZS m3 4.000
ARSIy ARAR m3 2. 000
SRR ;@%ﬁéﬂbkﬁ%, X [#IB, BN = 1,000
SEARTRER f;%%%j%%% » PEHC, Fi 1. 000
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